
Tq +t{ qfff fm{t (r(fiR 3rqq q+, t Fcqr BqR +dr t, tr qs\ or m u-frrr q.G bkqcO
erfrfo< m tr qe-m t. ge srfrft-ff qr 6i qre o-at t.

stm teq rA fi fi qnen (A" )6-6il t.
qvu-t nu are * dm-e di fraino-64 t.
IlErRurqrq, 5i1 qrq +{a {eq"r c{ q{'ftfu{d e-cftr +, tdS C6d O q{ d,nql qrdr t,

it qtrrrur qrq (qro qrq) +.64 t.

qrqrqfrqq

( r00'! qh qlil)x q{iwq)

100 x iliilo t too x Al;'qlq(rr) Trrq :', ({,<i i,H!Fi)

100

((t x kq)

lq qlxtoo
iEFIFI tlii . =

)

.:,(j), tslg.r!{iqts'..+'

E
,,r,t..(jt) a:

qrleras<rflur

6fl: {afi: ? 6000, <{:6% qlfrf6, q{q

€rs*srq^n:? (**ror].fr)

YPT 1. ? 6000 q{ 6z efila <t t t cr6 trr {ErrruT atttT iTilt fqgrsrr Fra a1frq.

=a us= 2 
"{123

= ? 240.

fretn :t (6000 + 240) =r 6240.

cFI2. T 2500 E6T 5% qfif6, q{t 2rs k{ E'T qErRUr qrq fud-{r tqr ?

6a: rFIT{-? 2s00.?{-s9osrfrf6,** =# d =] ut.365 s

gHr(gt qrq : ? zsoox 1x1
100 5

=175

yFr 3. ? 3200 q{ 4 ertfi zorz t t6 qi 2012 irtr irr 5% qrfrlu E{ qr qrerrur qre t*-aqr
Brmz
ftlqsfr : tqe Ffi rn qqt etm t q€ fsr qrq tqrfr fim vmr. vrE fqs frr ra ft+rer qrm

tftEqqrqtqFnrqrilrt.
51s

d{tr{r?

(iii)r,R.:

d'ffi,' tr,ir tq.*tnn qA * < nzqfi{o t. n-q
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Ft:

c[JI4.

EET :

CFI5.

f,€T :

{srH : ? 3200, <t : 5% Srmfr
erfd q'i $
JJ

qqq:126 | 3r - l6)f({="tu =# * =l *
t 5 l\

. . IIltlRq altlI j t 
[ 

3200 (-x- 
l= 

? ]2.

imrir en ql qrqnqr qrq *i 8% qrfi-o <r q r ei qT fuarer< r ovll t' tr6 -{< l-ftr
dfqC.
qtfl {fltn : a r. iFI,

qltn{ol qlll -? l,r^ 8 *:)= t 6j.
( r00 ) 25

- ( 6;r\ 31x.'.tcrytH=?lr+-l=a-.l. 2sl 2s
3l x 6944x25

... '-::-:: = 6944 - .\ = 
-- -- = 5600.25 31

ekl: ei!fre t];t : t 5600.

ffi erc a,r qrqrsr qrq * 2 s{ Er freu{ t 8700 itrlT I } a* ur axtl-t t 9600 t
{relrT.nsr Enq 61 q( nrfr E't
3 r{**r=r 19600 87oo)=? 9oo.
2

t)\
2qd6,rErnc=? 

l 
9oox:xzJ= t t:qo.

. . {e?r{ : i (8700 - 1200) : ? 7s00.

..<{ =[looxl2oo)r" qrn++ = szqm*.
\ 7s00x2 ,

3p6, qstn : t zsorj nqr < = ez srfrifi.
qlelRq qrq * F.EIT <{t qI$ !r{ 8 q{ { EW t vrtml
qI;lI TitFI = I r. (il, IIIo EnnI : t ,, qqq = 8 qd.

.. 
". =lloo")"r" qfiiq, = ru.s,t" qfilo.

( xx8 /
1m anurfri + +s000 E'r{qr A +fti t Fo<t goxu* ftq t% qfila qrqEtn aqr
qitxut* ft<q rzv" afiia. qft qfi ?x{ trt Ei?T E[!r t 4440 E], + s% at<{trcf*,ilfl
enftqrqqr?
qpa 607" 6i q{ q( fdqt rtqt riH = t r.

E, 12% q1 <{ c{ ldcr rFn fi : r (a5000 -:r).

,, -Lr1
100 )-' {t*ro-o,#,r}=+++o

+2x +3(45000 - 7) _ 444025 25

=r 2x+ 135000 -3x = 1 1 1000 = x = (135000 - I I 1000) = 24000.

elf,: 8% +1< w fcrq rlql tI{ = ? 24000.

cvr s. Et$ {{ Pd+ ft F{d q{ q{ 2 q{ * faq vrenrur vm qt t<qt rrqt qfr qre qt qr r z
srBro tfr <) t ros qrq sfir*, frfidL Wq-r nrd +tFcq.

vfi 6.

tFr:

c?rr 7.

E€I:



EA: TFII {eN;I = T r(qlEt=X % qlftfE,. q

Jix(n+3)x2 I _( xxRx2 )_ r^aI roo I I roo f'""( xxRx2 \ rrrx3x2 \ irxxRx2\=[ roo J-[ roo J-l - .1='*3x --- 108x50+_=lo8=x= =1800.503
3rd: TitFI = r 1800.

cgt 9. 3 q{ qrq tq t r osz q{rq{ qfi [q' ffii d g+r<r t uG qrenrq qrq sft <{ 1 2 % afi 16
t, frr*+fomaq6ga*ltwq.

6o : rrt eftlofoe 6't qFr : ? L itrl.
I r61 2 qd sl frTfi + ? rst 1 e{ 6r tl{fi + t x: t092

( xx2xl2\ / rxlxl2 \=l'**J*l--*J
=[,.tJ.[,.*)*,=,0,,

+x=1092

3lx 28x+ 2-+-+x= 1092 = (31 x + 28 x -r 25 xt = |092x251

= 84 x = lo92x25 =+ * =1092'25 =325.
84

3rd: ydm f6R t5.t qH : ? 325.

firqFafuo cr+ d t r*o i *o ymq} F*<ifdn ( / ) alftq :

1. ? 988 s1 {rfu R 1s"7" ffif+ q( t 5 s{ + €rd t f6-f,{r qt?IRq q-q orFid E}[ r
(a)1711.36 (r) ? 898.20 (c\t 799.25 (d) ? 805.40

( +t, +o$o qfren, 2oo7 )

2. q6 qffi i . 8500 <trntut qtni q( s% srfr6' <{ t BqR fot. z1 qd * .r< t sS f+a-+ qt
srfrq t{ d,rr ? 2 (H qfrqn, zoos )
(a) ? 10412.50 (D) i 11412.s0 (c)? 12412.50 (A ? 1.3,4t2.so

3. r 3600 s1 (fsl rd <} qrrir d gq g-d,R frrr* +i fo qrd l{Iq q1 507" qfif6.<r t s q{ 6i srq{or
.lqrq, Egi i{rq c{ 64% qft{q- < t + qd * qtqnq qrq } q{Iq{ d. tnMt *.qsr,

( gogoo$o qfrqll, 2619 I
(a) T 2250 nQI ? 1350 (r) i 2150 srll t 1450

(c) t 2350 nql ? 1250 (d) ? 2050 defl ? 1550

4. xdql I,d A qqH {Rrqf z.sz qrffi+ <r t m'qvr: 4 qd aw s qd B feq sqR { .r{. qf( Eih
grc isi 'ri qre i t 150 6,r q<R d, d e-&6 { rd rrfrr ffi t ?

(a) t s00 (r) r 1000 (c) ? 2000 (d) ? 3000

( q€oqqofro qfrqn, 2ooe )
s. or€q i 4 sd +-frq ffi qflrfrr q'r qrqRur qrq ql q+. fik+r < qr f{A{r f+,qr. qf( sqi yS

rft or o qd * frq f{n{r f6qr +dr dvq+6rr ofrfu ers +1nRr qe& erftia qrq 61{rfu t

ITFTEITEIT 2I ,\
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so% srFrfiEtfr. qrqElqrFfq.qr€tt? (tatogrlo qftqr, zolo)
(a) 4% (b) E% (c) s% (rr) frqift-o q-d +t q q+-fi

(4ErCi+tiTfi
o. q*{trsr6'rqrqRorqre61ffiq{q{ 2 qd t ff,q fri{r ts.qr rM. cfr q€ Fr+v 3% srftrfi qrq

+1< qr t+-qr qrm, 6 1 72 e1ffi fuet. T6 {rftr ffi t ? ( \r(oqsofro trI, 2oo9 )

(a) r 1200 (D) ? 1500 (c) t 1600 (d) ? 1800

z. qrq q{ ?ri ii qra q+ qk q,'t an Een i+ ss*' ?Ir w qre +1 < it t" 
" 
i z 

1 q" tnr+z di
qr ss+1 qrffi6 3rq g 1 61.5s +16fr fr qTfi t. 3a-ii tfr ffi t ?

(a) ? 26000 (6) r 24600 (c) t 23800 (d) ? 22400
(*fiAcrfunvfrqlT, 2ooe )

8. ffi {fu q{ 8% qrFi6 <r t 6 sd { scfu( qtrRur qq i 1200 t. Fq {dr{ t fud rrfu q(

10%qrffifi<{ t z e{ * sr< il qruror qrq frd{r +n ? ( *+ frogto qfrqn, 2O1O )

(c) i 37s0 (D) ? l2s0 ,(c) t 3650 (,/) ? 19s0 C) {+ti t +t{ Td

g. ffi T{fiRr 6r c.q fil6r$ 3% qfii+ < qr, I qn oz qrtf+<t rR nqts t1affi 37"qffi6
6

w ftisl +1 qrfr t. qR q+ qd i gn slqr"r qrq t ooo frA n] q6 tr{irivr ffi t ?

(c) ? 6000 (6) t 6666 (c) i 7s00 (d) ? 10000

(temtffiaqfrqtr' zoto)
10. skdr i 6% sfii6 < i srqrq qrq q{ qti aq toqr. {6 <{ Yfu qd t sz qrffi+ < t qrfr t.

d-+ q{ +1eqrk qt q6 t stqoqrq + 5ct tfr t. qc'xq-nftr ffi t ?

(c) ? 36000 (6) t 3s400 (c) t 36800 1a) fruift-a rfr +1v v+-fr

(4s{i t 61{Td ltfafrosto vfrqn, zoto)
11. r 2400 irr Fir-fr fr|r+o qrq a1< t 4 sd 6r fretn ? 3264 A qiTI t. qrq <{ C 1?'" gla 6{i

wvrt q-<rRrarseidqrrqtfqftr{Frd-{rdqrfu ? tffigFaeufrEr, zolol
(a) ? 3260 (r) t 3310 (c) ? 3360 (d) t 3460

12. I i B 6J ? 5000, 2 q{ + frq trr c 61 . 3000, 4 sd *' fuq qrqRor qrq a1 q+ d < t sqR

f<t. vsi sr d=ii t qre + sc i gid t 2266 y6 ffi. qrq +1 qrFf6 <{ ffi t ?

(o) s% (b) 7% (c) 8% (d) r0%
( qqoq€ofro qfrerr, 2o1o )

13. ? 2500q( 6 qd { sqkd qrqnur qrq i 1875t. FS<(q{eddsrrqfitds* 6875 c{ts-f,fl
qrqnq qrc'sqfud d'n ? ( tlo fro*o qfrqn, zooq )
(a) t 4556.50 (6) .502s.25 (c) r 4895.25 (A I s24s.so (,0 Eri * 6ti r-fr

1a. ffi slrq i 3y" qrtf.F'<r t t 8000 6r {ttlrsr qfq sn-<r d d.n fuil{r fs 4% qrFifr < t
? 6000 6r qrrrRur anq s qd t d,n ? ( tFt} qfril, 2oo7 )
(a) s sd (b) 4 s{- (c) 5 qd (,/) 6 q(

15. qFrRq qrq a1 qo trtr+a <t t +t€ qi 20 s{ t ggn d qrdl t. Es q-+ o1 fuil fi i t+d{r
qqq dilrn 7 ( lsoqqo*o qfrqll, 2OO9 )
(a)3oe{ (6) 38 qd (c) al a{ (4 40 s{

16. 6ctsqfd-diqdt t zooo+T oZq" qfifr <t t ennrq qrq {t Fq+ t drn ?

(c)6qd (a) s q{ ' (.) 3 qd (d) 2q{
( qqoq(o+o rrfrq{T, 2oo9 )
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u. ffisfr{ 12%qfito<{t? 3000 fi qrrrRsr Enq ? 1080 E} Ertrn ?

(4)ls{ tar zl ed (c)2qri tO:1 q{' 2 2'
1 gqoqqotfto qfrqrr, zooe )

18. +t{ q-flft qturq qre u1 ffi <{ t e s{ t r zsoo aett ro e{ t 
= 

:ooo d qrfr t. qrFfi+
qrq +1<{ friri t ? (\qogqo*o qfrqn, zoos )

I(al4% (bt 2;ok (c) 3% (d) 2%

re. 6t{ q{ 8 s{ t errmq qfo 6i * <t t gW €r qrtm ? ( Etart#€qfrqr, 2oro )
(a) 16% (b) t4% (c) tz.s% (d) 8%

29. 5"a qffi q( t 3 Tfr+ + ftq f{arr ffi q} ffi a6w c{ T[rrRur qrq r 2s drn ?

(a) t 1800 (r) ? 1850 (c) t 1900 (d) ? 2000

(Hqfrqr,2ooe)
21. fqwrq i qi€ t 30000 wR fdq. F{FFI q.5 !firt 12070 ffif5 Htlrsr qrE +1 < t aqr tq qrq

19o7, qfif5 HtrRq qrq +1 < t fuqFrqr. qR 2 s{ sK gfr ? 36480 EtI Urirr i6qr rql d, d
l2%qlq{c(d',r{{fuffi fr? 1{,oto*ovfrqn, zoos )
(a) i 16000 (r) ? 18000 (c) ? 17500 (d) ? 12000 G) {{S t qtg Tfi

22. ffi fffl q{ slqr(lr anlr {rlr{ rFr } t aw sd A ter yfosrd <{+q{q(t. qre d Erk6
qtffit? - (kdqfrm, zooq)
(a\ 2.s% (b) 5% to , )* @) 10%

zr. f+<i qqq q t 10000q qrqRq qrq ozqN-+<tt +so d qrlrn ?

(a) 8 116 (r) 9 1116 (c) l0 rlrd 1a; t ed : re
24. (rqRq ql-q +1qrft[E, <{ ll.s%t 1o%AqriTtqfiqtff+] r qdtr 55.s0qlEfiffit,

aaw l+-c+ t ? l qsogro*o vfrqn, zooa )
(a) ? 3700 (6) i 7400 (c) ? 832s (d) ? 11100

Izs. qFnrq qrq 61 qfi{-s, <r 6; % t 8% El qr+ + 6,Rur qd6' qk +1 Erni4. snq i 
= 

+o.so +t

Ck d qTfi t. aow t*-c+ t z ( q€oqqoto qfreFr, 2oo3 )
(a)7 2s00 (b) 12700 (c) ? 3000 (4 ? 3500

26. 6t$ rrr ErqRq qq 61 fro Etq < w z e{ t faq sqR t<qr -rqr. qR qre sft <( 1% sfi|6,
erftr+ Eifr ii qsi ? 240 s{ftm orq dfi. rc tn fra-+ t ?

(a) ? 5000 (b) ? 6000 (c) ? 8000 (d) { 12000

2i. t 40oo 61 E) qr'il { snrnq qrq q{ TqR f<qrrqr. qR s6' iil'r q1 qq 61 E{ g,Z qrFfq' fr qqr

qfr wn m w < roz arff-o d aqr gfr qfi{e' qre t 3s2 trd, fr ez qfilo' <{ c{ Fd- {r tr{
t<q'rqz (tffiaqfrqrT, 2oos )
(a) ? 1600 (r) ? 1800 (c)12400 (d) ? 2800

zs. +t{ trr qrr{q qrq t :o Ed t fd{il d qm t qrq +1 qrff-6 <r qr t ?

1l
tql6o,o lbl 6:0,0 (c\ 71o/o ld l}vo

29. qHRq qrq B1 fd'.s qrn[E' <{ c{ f6q1 qq 61 10 q{ 6,r qrq yq tr{ E'r ? dfl ?
5

<0, ul*@)a% b\ sZoto
3

(c) 6%

( q€oqRo$o qft{r, zooz )
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30. q6 {Rr qrqRqr dIFt rt{ 10 s{ t g"J-fi d sTfl t. ffi efr i ra qcn qrq < c{ fdgfi d
qrhfr) (tir}qfrqn, 2006 )
(a)25qd (r) 2oEd (c) 304{ (4 l5s{

sr. ffi qqq t isifr q1d qrtlrq qrc 61 5"7"qfif5qrt +oxdgf6 d qra.fr ?

(a)se{ (r) 6s{ (c)?ad (4 8sd

32. g6 qlff 6q{r: 5 sd, 10 q{ aen tz qd } fdq {IqRur qrq +1 *c{t, to%, 12yo <cI l5o/o

erftfq'< qr tr{ drndl t qG 3 qt' qtq 94fi qtq t errqr qre fTA, t ql {etrt} ot erjcln

flrE}fl? (tf,aqfrqrT, 2oo2 )
(a)2:3:4 (b) 3:4:6 (c)4:6:2 (d)6:3:2

33. q5 qf6 1 10000 + gd qFr 61 s% ft[ Ed qFI fr 6"/" qrff-fi 6 qt f{aRK 6-rdr t. qF< sx
qr FARrd {rfu, 6% c( ftAfrrt {Rr t vffi t zo.so erfir+ qrq t, fr oz w ftifrr+ q+nRt

ffi t ? ( q€oqqo+o qfre0, 2oo8 )
(a) t 3600 (D) t 3550 (c) t 38s0 (d) t 4000

34. ? 2s00 6r o q{ * er< t sqtqo qre * ttzst. vfr<wnenqS erqfu * faq r oszs6,t

f56a q1wqur qrq Arn ? ( t[6, So3io qfrqfi, zooq )
(a) t 4556.50 (b) ? 5o2s.2s (c) t 489s.2s (d) ? s24s.50 (4 a{q t ;5ti Td

35. !trd i t{firq t qlllr<q qre q{ t+x qfilo < t s sd *'foq t oroo sqn fdq. ssi EsC gis
qh qilrftr +g-+-{ ff6d 6} B<-fr d e-cfu + frq I 6% srffi{- qt cr qnrnq qrq q{ stIR t RA.

gq s'fr +i-tr i gfrd +1 r e t a q'I dlq E3fl . 3ai tf{d d ffi rft stm { fr ?

(a)? 7000 (D) .6800 (c)11200 (r, ftqifco rct qi q q+-fr

(e) flq t 6t$ Td 1tf6Qosrlo vfrgr, zooz)

36. fr Eqt ? 14s00 61rtlyl sl 5 qd *' feq qrqnq qrq qr t+icr +,G t. qre d f+-q qfif6'<{ c{
sd r zr+ooffit? 1$-m*mffirvfrqrT, zooa I
(a)4% (b) to% (c) 6% (d) 8% <elr+it+t€rfr

37. Sm q6rq{ Ss' qrfrq +i t 4000 (t{ s{ + frq 3qR tdr t. W+ $6 qlrr c{ qrq{q anq 61 <
10%srffistacrrls qFrq{q6({ rzzqfil*t. 3sdsREigE enrtfrr ? 5350 cIR E{. Tqi
12%q6q{ffi t1{ffir { ? 1*o*oqo vfrEt, zooz )

(a) t 2000 (b') I22s0 (c) t 2500 (A ? 227 s

3g. qlw(q qlq +1 +"2 qfiiq <r t + qd sR tq ? 848 * Tq t Fvan \f+-c+ am{6 tJTdR +FII

d.n? ( qgoqqol+o qfrqlT, zoro )
(a) ? 212 (6) ? 200 (c) t 250 (A ? 22s

I
39. ,4618+ l; q{sKr l573titnqr8ft1l+'6qr6sK? 1444.50?it. qft s1t1Rq qM

d < r+"t" iffi6 el nqr srq q-6 {d + qd 6r frT.m 6.{r d d ffi ffi FcA ti €tt ?

(a) A,t 28.50 (b) B,? 17 .50 (c) .4, ? s6.00 (d) B, t 50.00

40. srRfrc i $B Tr Btm frqI tqq c{ qrq 61E{ q6A 2 q{ ils' 6% qfih, 3TTA s Ed (m' s"/.

erfii+aqr Es+ qc r+z qfiiq- fr. qR q sd qR sqi gfr srtrRor qrq t ttqoofflrd, frsqi
g;e f+-c+ fi sqRfdqr ?

(a) t 12000 (b) ? 14000 (c) t 16000 (4 . l8oo0 (e) E{i t 6t$ Td
a1. qftqqnilfii€q{{qqn(qq}ftq{ x6T sltlnsl qrq tydnenty+tvuruter< t z

d, dftqit+{-qrqtr<qst:
(a) xyz=l (b) zz =vy (c) xz =1, (4 Y2 =^
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.- -r... I .i.t.. -..:..

,G)... 9.,(d).,,10:
:(d),:19:,:(r);.r?0;',
' {r}, r?9. :(a)i:,i30r,
:(}}" 39. (dli:r:{0r

(ffiI,2Q): .,::.,.:.

fO, :fr',(a),::::.2,::(&f,::.,r'.
(d)... 16i. ikJ. :i:l?t:rlr} i,i lE;
,(a}, 26, (4r,',?3tr(c},.:!!,'
l(6).r'. 3fi,{d)i,''37::td:l;:it :

.4.
t4.
2{;
,4

(")
(e)
(6)

{c)

r. (6)
rr. (c)
21, (A
3t.(a
41. (d)

2. (")
12. (4)

22. (b)
12.(4

3
13
23.
33.

G)

ERIfiF{f:

\"),,

VFTIIIFIT 21AH.rlqrn*Em
1. {rrFI : i 933,q{ = t3"Zqfird6, rFrC = 5 qd.

qox<{x lrtrq - / 988x18x5 )qltnrqarq .|\ * J
4446:? -:- :t889.20.

s

2. TCrrF - r 85oo.rr- q"" qfiio.. s* =; "{

)=.( 2
qrfrq f6qr rrqr r{ : a (8500 + 1912.50) : r 10412.50

3. cHI q6f,l {FI : I ;r il9l (ffi vla : ? (3600 -.x)

*"ar3 =,3699- rtxI x Ix+
100 4 100

= 
3x - 

(3600-x) +t2x=72ooo-2ox204
= l2 r = 721)00 = x=720W =2259.

32

. . T6dr qFT : I 2250, qS{I qn: a (3600 2250):?

l. qr+r&olRr: r r. rq
15 I -ix x-x)2 100 It

15 Irx-x-x4
2 100

qlqRsl qlq : a 85oox 
9 x5

t00 2

3825 : ? 1912.50

13 50

= lsO

= 
I -1I = tsO = t5x-12.x = 6000 = 3.x = 6000 + r = 2000
8 t0

ef,d: 9-d;6 {RI = a 2000.

5. qHr t3qi : ? P n?n <i : p o/" qfih.

P* R ,6= P^ R ,41150
100 100 100

Hq t fu Esi R nR Td f6qr ql {fr-dl.

6. qra slseffi:1p6q1q1 =x "7"qffi5- 6q

rr(R*3)rz
100 l-[""*")="

= [""r-,, ). f#-[,,-a,, )=, = I = iz

= 
p =72*100 =1200. sK: ellfr€ rtl{ = I 1200.

6
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7. rlfifl 3T!frq {fl't : t x. dS

,, -Lr 1

100 )(
3l I:l.x-x-xl4 100

=61 50

xx

Tqr{f,wr:t7500

- 4 -1)! = 61 50 + 32 x -31 x = 61. 50x400 = n = 2460025 400
.. srrfr€ {frr: T 24600.

/ t oox tzoo t
8, IldfilTf,q;r-7 | - l-?2500.- ( 8x6 )

erfie qre : t
9. ql{1 31frq tr+nRt : t x.

75oox 10 x2
1000

: a 1500

100 100 100

.'. e frq{Il{r=116699
10. CFIr Eqr-ffYr =t r. ntr

r8_x_x I2 t00
= 600
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